(b= L 7 504 7S — 752015 | BHes bril 3 (44 -0 1H ORHE)

FLISE T N3 A5 B4 () Tk 22 HEFE A5 Bk (1)
TNT5% WX Laga—s—| 47500 [Eii—s—] 7500
B4 ERLHE k4 EREE

7 —L v AGC il 18,750 11,970 6,480 4,720
TATL R T7) —MERTK o /N 15,790 10,220 R IETRL
HJECC AEET 10,990 7,910 6,480 5,320
/MECC /N 7,550 4,760 16,960 12,190
HEGC N 13,630 9,490 R ETRL
25—CC b By 7,790 6,010 6,080 5,170
Po =2 N —GC s B 13,550 8,710 RIETRL
FLIRGC (== —2=) | NI 12,990 8,860 10,000 7,240
FLIRGC (/5= — ) Tk 5,790 4,910 6,560 5,560
LRI B GC FHA—HT 6,190 4,870 9,520 6,100
FLIREBRCC (Bifa=—2R) AbIR B 6,910 5,480 6,000 5,010
FLIRFEZRCC N 4,590 4,100 9,760 7,650
FLIRY — = o b L 7B IR BT 6,430 5,100 7,120 5,950
FLIRY — = R VBB A |FLIg T 6,910 6,120 7,120 6,030
P —IFLIRGC IR 8,110 6,180 7,600 5,480
¥ Ly 7CC Tkt 13,950 9,120 RIERL
FTrECC Tkl 18,430 9,440 8,640 5,640
HikCC (FEE=—A) FEETH 10,990 7,070 6,480 5,320
fAiCC /N 20,430 13,540 9,120 7,200
T 22 pkCC N 16,110 10,390 R ERL
Xy 7'GC FLIR 7,070 5,400 11,920 8,080
BN 7)) —RT2 =3FGC o 15,550 10,650 5,840 3,750
=tarLvyIGC =kl 33,230 18,810 42,800 22,350
=RLITyIa—2R /N 15,470 10,650 4,400 3,680
FCC(IHANAX A YERGC) 22T 19,070 12,120 5,280 4,310
oy CC FLIE T 4,510 3,870 11,600 9,060
JLFEEGC o N 20,670 13,540 9,280 7,160
igE 732 GC il 19,870 10,970 4,720 3,530
=8 GC EELlil] 13,470 8,970 11,280 8,640
WAV —hTNTT72 AU —a—R  |BBHEA 21,950 14,230 37,760 17,130




